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(344) (3=VB) = v

1) 6 2) 9 3) 7 4) 2

I+ 11x+6 Q¥ s*B@eosP.........; Factors of 3x*M+11x+6are ..........
1) (x+2) (4x+2) 2) (3x+2) (x+3) 3) (x=2) (4x+4) 4) (3x-2) (x+2)

x=4, y=4 ©3 Dpen eS5rl8%ES ............

x=4, y=4 lines are ...........cousv... to each other.

1) Sdmodoren; Parallel 2) posteen; Intersecting lines
3) eowdyen; Perpendicular 4) DdeH: None of these

Y162 @) $ooF )E@S50 ........; The simplest form of Y162 is.........
1) 332 2 3¥6 32¥3 936

If a+b+c=0 e@ond (then) a®+b*+c?=................

1) 27abc 2) 3abc 3) 9abc 4) 3a’b’’

5%+5%+55+5%+5% =

1) 5%

ArsSE ogrod SSroddorr af) Sypo DG 5°90 ...

The angle between the lines parallel to the co-ordinate axes is ............... angle.

1) &g Zero 2) woo; Right 3) 56¢; Straight 4) ©05; Obtuse
f(a)

f(x) = — TR
If f(x) x_lm::é(lhcn) fa+D

------------------

1) f(-a) 2) r[%) 3) f(a?d)




0.625 %) &3 ..........; The periodicity of 0.625 is
1) 25 2) 6 3) 1 4) 2

1808 >86° DB ubfirn [HEHos® Both?
Which of the following is in ascending order?

1) 8.080, 8.800, 8.880, 8.008 2) 8.008, 8.080, 8.880, 8.800
3) 8.008, 8.080, 8.800, 8.880 4) 8.880, 8.800, 8.080, 8.008

o 5ON aoctood; An equation contains.........
2) RHS. J) = 4) ’9‘.’)&& All the above

&i80b 6 wEsdad SogsseRs?

Which of the following is not a rational number?

1) 1 2)13 3) 5 4) J9

2.8 B A DohPed HEoSKen?; How many points are lie on a line?
1) 2 2) 4 3) 3 4) ®5080; Infinite

If Vo604 =98 ecnd (then) J0.9604 = ..o
1) 0.98 2) 9.8 3) 0.098  4) 0.0098

| |
+ ST e
'I+4\/}T 2+J?§
1) 1 2)7-43-Y5 3)5-43+J5 4)5-43-5

If (x+3, 4-y) = (1,7) @S (then) (x-3, 4+y) =
1) (-5.1) 2) (-3,-2) 3) (6.8)

1808 =06° D6 dmo? Which of the followig is true?
1) NCWcQcZz 2)WeNcQcz 3)NCZCWeQ 4) NCwczZcQ

1) 7 2) 4




52 - v
125 ot Serodbrdo - Decimal form of 125 1S

1) 0.412 2) 0.514 3) 0.416 4) 0.512

Y81 -8Y343 +1532+/225 =..............

1) 0 2) 8 3) -8

=0, y=0, x=3 50 y=3 0T JEAS (e ws=o
The graph formed by x=0, y=0, x=3 and y=3 is.......cccecvcueun.
1) #do; Circle  2) (Bébao; Triangle
3) 8&gs&BHo; Rectangle 4) SHBS0; Square

127 w8 P srsdo............ v B ool 127 ks
q q

14 14 14
N3 i s

P(x)=2x"+3x~K % (x-2) S*e05DS ‘K* Den.....oe.n.

If (x=2) is a factor of P(x)=..x1+3x-l{ then the value of *K" is
1) -4 2) 8 )14 40

“6 JDotl)” Gond . Author of “The Elements” is

1) 2riiSS; Pythagorus 2) @5y Thales
3) cor8E; Eudlid 4) oréries; Ramanujan

a8 886mo.......... wods Dothhenothsd; A ray has end points
1) 1 2) 2 3 3

3) (0,2) 4) (5,0)

- AL s
ax+by+c—0fonnofahnc3+4 4

1) Sx+4y=1 2) 4x+3y=2 3) 8x+by+1=0 4) Bx+6y-1=0
If g(x)=x*-3x+2 ®ows (then) g(0)H+L(2)=.....cceururennns

1N 4 2) 0 3) 1 4) 2




30) (Bodad&* wodo B0 Sevo¥ Sowg

Which of the following is Non-terminating Decimal is................

39 3 3
R 2 ST

1808 >R&* ©RGRDS 580?; Which of the following is undefined term?

1) DotoH; Point 2) wondoo; Orthocentre
3) (Bgbeo; Triangle 4) Hso; Circle

2.8 'm0 72° wond o) FEE 5'mo Dend
If one angle is 72° then its complementary angle is .........c..c.......

1) 108° 2) 72° 3) 18° 4) 28°

DErSE Byr KBS0 WP TN KSS &
veenneenneneeee Mathematician developed the Co-ordinate geometry,

1) dhreb; Euler 2) aR38; John Venn
3) cirf&; Euclid 4) B Berf; Rene Descartes

=4

2.5 BDASH BEBBROBED «ovvveevrenrensenns OSSO0,

A linear equation has ..........ccccenvee solutions.

1) 1 3) 3 4) ®5080; Infinite
(n" +b! ).I =

1) ab

1808 >AS* BF0SAY HPDoHIB?

Which of the following represents a polynomial?
12
1) 8x% +5Vx +1 AVxE-x+1 H X By -y?

37) Botd 8% Sre ad A JFo.........nnen.
Sum of the two adjacent angles =....................

2) 270° 3) 380° 4) 180°

. Which of the following represents y-axis?
2) x=0 3) x=y 4) oQasoe; All




x=0 0k y=1 58 5x-by+3=0 H JES ©ond ‘b’ Jewd
If x=0 and y=1 is the solution of 5x~by+3=0 then the value of ‘b’ is..........
1) 1 2) 5 3) -3 4) 3

7 - 2‘5 Gos) ©5580%H sSeroso
Rationalising factor of 7 —2/3 is

1) 74243 2) 7-23 3) 53 4) 54243

f(x) 5 oFvSHE8 f(::,—l}ﬂ oond (808 8 f{X) s*Berossn

If f[:j!)= 0 then a factor of a polynomial f{x) is
1) 3x+1 2) 3x-1 3) x-1 4) 2x+1
89 © A SoFBE Bredio : Supplementary angle of 89" is............

T 2) 91° 3) 11° 4) 271°

(5,-3) DotoH Dos® ot (5,-3) point lies in ......... quadrant.
1) Q 2) Q, 3) Q 4) Q

X-0gosH SHrodborr doth Tye $sdmo

Equation of a line parallel to X-axis iS.......c.ccccin

1) x=3 2) x==5 3) y=0

(Y +4) (5-y°) Bt 25050 $05re0

Degree of the polynomial (y*+4) (5-y7) is
1) 5 2) 3 3) 8

5% 50088 I//m wans y Dend

> In figure ///m then the value of *y’ is

2) 80° 3) 90° 4) 180°




47) iBod VS IoeseE DEH0 BO JOFY ..vvviraennn

Which of the following has no Multiplicative Inverse?

1 0 2) 1 3) -1 4) %

48) If x:y=5:2 wand (then) 8x+9y:8x+2y=..............

1) 29:22 2) 22:29 3) 11:29 4) 29:11
Al
49) (S8 5008° xM4y%4+20=........ee..
: In the adjacent figure x"+y*+2%= ...
z
< @ uP§
1) 90° 2) 180° 3) 270° 4) 360°

50) “JAISAMAIKYANDHRA PRADESH 60 oD, Pego VB .........

The ratio of Vowels and Consonants of “JAl SAMAIKYANDHRA
PRADESH I8 ooocinicanmsemsess

1) 6:17 2) 7:16 3) 8:15 4) 9:14




